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(kg) (kg) (kg)
Xi#E L =55 100 x>t 20, 000 432 216 # 40, 000
AS =5 10]  #Axt 45, 000 1,188 216 A 40, 000
HE £ 100 At 3,000 1,296 864 # 3, 000
KE I8 0.2 fExt 500 108 # 500
IMNAZE a5 0.2 fExt 300 54 32 # 300
IMNAZE R 0.2 fExt 1,000 54 # 1,000
FrARY a5 100 At 25,000 432 216 # 10, 000
F5NAE a5 0.2 fExt 250 162 76 O 200
sl a5 5, Y 4. 600 1,944 1,620 1,404 # 3, 500
o RIh 5| #Ext 1,000 1,944 #H
=2 L AR, T 0.1 #Ext 2,000 43 H 2,000
JOyaly— AL E=F. dtiEE 8| #Bxt 800 2,808 H 480
LA X =F 100 x>t 3, 000 1,296 H 3, 000
FoagoYA P37 0.2 #Ext 100 130 H 100
A AS = 5, +Y 500 2,052 1,728 1,512 O# 1, 000
RHF P37 4,  HEx*t 1,200 1,296 H 1,200
k< = 4,  HEx*t 6, 000 1,296 216 H 6, 000
S kY b e 0.2 #xt 2,000 119 H+ 2,000
F—<> e 0.15] #Ext 4,000 97 H+ 4,000
HEE I 5  Hxt 2,000 1,728 H+ 2,000
EHE R 10]  #Axt 4,000 2,808 H+ 6, 000
A—=04y e 10]  #Axt 25,000 2,700 2,160 H+ 10, 000
FAT7H) EHZE % 10| #Axt 10, 000
E¥ A4L. A3L o 100 &) 17,000 3,240 324 H 15, 000
EA EE 20|  fExt 5,000 4,536 H 10, 000
[IZAIZL B 11 +1) 6, 000 2,316 756 H 7,000
SHE =F 0.1 #Ext 2,400 76 A 2,100
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e Eih Bfi Ry EFEH = =iE il =ZE| iR FEH=E
T4 A . B 0.1 #Bxt 1,000 59 # 800
HEREE 181, 180




